hp 9g
Graphing Calculator

Example 1

B Change 123 x 45t0 123 x 475

123[ x ]45[ ENIER

[>»10>» 10 » 1[DEL]

[2nd ][ ¥ ]

[> 10> 17 EMER ]

123%45 L

5535,

12%45 L
[0}

123%45 *
0]

123%475 *

58425.

B After executing 1 + 2, 3 + 4, 5 + 6, recall each expression

1[+]2[ ENIER 13[+]4 548 1
[ ENIER |5 [+]6 [ ENIER |
11.
[0}
[A] 5+6 t
[0}
[A] 3+4 H
[0}
[A] 1+2 i
[0

B Enter 14 + 0 x 2.3 and then col

rrectitto 14 + 10 x 2.3

14[ = ]0[ x ] 2.3 ENIER |

DIVIDE BY 0

(after 5 Seconds )

[ <11 ENIER )

[0}
14/042.3 t
D]
14/10%2.3 t

3.22
0]

Example 4

W [(3x5)+(56+7)-(74-8x7)]=5

3[x]5[M+] 3%5 #
M 15.
D]
56[ =+ 17 [M+] 56 /7 t
M 8.
0]
[MRC ] [ ENTER | M t
M 23.
D]
74[-18[x]7[2nd][M-] 74-8%7 t
M 18.
0]
[MRC ] [ ENIER | M t
M 5.
D]
[MRC][MRC][*/esc] < L
D]

B (1) Assign 30 into variable A

[2nd ][ CL-VAR ] 30 [ SAVE ]
[A][ ENIER]

302A t

30.
D]

B (2) Multiply variable A by 5 and assign the result to variable B

5[ x][2nd][RCL] ABCDEF T
G H |
30.
J KL -
[ENIER][ENIER] 5%30 1
150.
D]
[SAVE][B][ ENIER ] Ans->B t
150.
D]
B (3) Add 3 to variable B
[ALPHA][B] B < t
[0}
[+]3[ ENIER ] B+3 '
153.
D]
B (4) Clear all variables
[2nd ] [CL-VAR][2nd ] ABCDTEF i
[RCL] G H I
J KL o

Example 6

B (1) Set PROG 1 = cos (3A) + sin

(5B), whereA=0,B=0

[cos ] 3[ALPHA][A][ » |
[+][sin]5[ALPHA][B]
[>»]

3A)+sin(5B) <« «

[ SAVE ][ PROG ] 1

[ ENTER ]

(5B)> PROG 1 « «f

cos(3A)+sin 1.

m (2)SetA=20,B = 18, get PROG

1=cos (3A) +sin (5B) = 1.5

[PROG]1[ EN;ER 10 EN;ER ]
[*/esc]20

A=20 < t

[ ENIER ][/ esc] 18

B=18 < t

[ EN;ER ]

cos(3A)+sin T

1.5
D]

Example 7

B (1) Expand the number of memol

ries from 26 to 28

[ MATH ] [ MATH ] [ MATH ] onPr i1nCr 1
[MATH][ V¥ ] 2Defm
[0}
[ EMIER ]2 Defm 2 < t
D)
[ ENIER ] M-28 S-376 1

D]
B (2)Assign 66 to variable A[ 27 ]
66 [ SAVE | [A][ALPHA
27{9@1][ 10 11 {663A727] *
66.
0]
B (3) Recall variable A[ 27 ]
ALPHA][A][ALPHA
[27[EN;E]R[]” 1 | ap27) t
66.
D]

B (4) Return memory variables to the default configuration

[MATH ][ MATH ][ MATH ]
[MATH][ V]

OonPr 1nCr *

2Defm
D]

[ EN;ER 10 EN;ER ]

M-26 S-400 '

Example 8
W 7+10 x 832=47

7[+]10[x]8[+]2
[EN;ER]

7+10%8/2 *

47.

Example 9
B -35+8+4=-15

[(-)135[+]8[+ 14
[EN;ER]

-3.5+8/4 e

Example 10

=
1
2]

B 12369 x 7532 x 74103 = 6903680613000

12369 [ x ]17532[ x ] 74103
[ ENTER

12369%7532% ™
x10 2
6.903680613

B 637 =0.857142857

6[+]7[EN;ER] 6/7 1
0.857142857
D]
[2nd ITFIXT0> 101 F0123456789
[>»] -
[}
[EN;ER] 6/7 1T
0.86
D] FIX
[2nd ] [FIX]4 6/7 1
0.8571
m FIX
[2nd J[FIX][-] - T
0.857142857
m

® 16000 = 0.0001666...

1] < 16000 [ ENTER |

[2nd][SCI/ENG][ » ]

[ EN;ER ]

1/6000 %
0.000166667
O]

FLO SCI ENG
D]

1/6000 t

- 04

x10
1.666666667
D] sci

[2nd][SCI/ENG][ » ]

FLO SCI ENG

D] scl

[ EN;ER ]

1/6000 L

x10” %
166.6666667
m ENG

[2nd][SCI/ENG][ » ]

[ EN;ER ]

Example 13
m 0.0015=15x 1072

1/6000 *

0.000166667
D]

1.5[EXP][(-)]3[ ENIER ]

Example 14

1.5¢-3 .

0.0015

B 20 G byte + 0.15 K byte = 2.000000015 x 10 " byte

20[2nd][ENG SYM][ > ]
[>»]

[ ENIER ][+]0.15[2nd]
[ENG SYM]

[ EN;ER 10 EN;ER ]

B (5-2x15)x3=6

0K 1M 2G ,
3T 4P
5E i
0K 1M 2G,
3T 4P
5E -
20G+0.15K t
x10 1©
2.000000015
D]

[O15[-12[x]1.5[ » ]

[ x]3[ ENIER]

=
o

Example 16
W 2x{7+6x(5+4)}=122

(5-2%x1.5)%3 ™

20xITOI7[+16[x11()]

5[+]4[ ENIER ]

Example 17
m 120 x 30 % =36

2% (7+6%(5+4 T+

122.

200k 150 120a10%) 120%30% T
36.
D]
B 88 + 55% =160
s 1582041 (%] 58155 % '
160.

Example 18
B 3x3x3x3=81

3[x]3[ EMIER]

[x]13[ ENIER]

[ EN;ER ]

3%3 b
9.

O]
Ans*3 *
27.

D]
Ans*3 &
81.

]

B Calculate + 6 after calculating 3 x 4 =12

3[x ]4[ ENIER ]

[+16[ ENIER ]

=
N

Example 19

B 123 + 456 =579 - 789 - 579 =210

3%4 L
12.

D]
Ans/6 t

123 [ +]456 [ ENTER |

789 [-1[2nd]1[ANS]
[EN;ER]

Example 20
B In7 +10g100 = 3.945910149

123+456 1
579.

0]
789-Ans 1
210.

[In]7[» 1[+][log] 100
[EN;ER]

In(7)+log(1 T

3.945910149
0]

m 102=100

[2nd][10"]2[EN;ER] 107 (2) 1t

100.

D]

m e °=0.006737947

[2nd][e*1[(-)I5[ENER ] | on( _5 ) t

Example 21

2. .5 _.,8
n7Z+143=22

0.006737947

7IA®12[A%13[+]14
[A®]5[A"]7 [ ENIER ]

.43 = 41
4 2

70 2,33+14.55 %

22y8.1 21

4[A"]2[A"]4] ENIER |

4.2 4 T

4u1a2

[2nd ] [A cqp e ][ ENIER |

[2nd ] [A /cqp’e ] [ ENIER ]

Ans » Ab/c<»d/, t
912
D]
Ans » Ab/c<»/, t
4u1a2

Example 23

1_
m45=45

4[A%]1[A%]2[2nd]
[FqpD1[ ENIER ]

D]
Example 24

-8%+3.75:12.55

4,1, 2»FoD 1

4.5

8[A"]4[A%]15[+]3.75
[EN;ER]

B 2 77 rad. =360 deg.

8.1 4.1 5+3.75 t

12.55

[DRG]

[EMERT2[2nd][ 77 ]
[2nd J[DMS][ » 1[ » ]
[>»]

[ EN;ER 10 EN;ER |

360
D]
Example 26

m 15=1°30'0"(DMS)

DEG RAD GRD

1.5[2nd][DMS ][ « ]

[ EN;ER 10 EN;ER |

Example 27

m 2°45'105'" = 2752916667

o r n r g
»DMS
D]
1.5»DMS &
1030101
D]

2[2nd][DMS]

[ ENTER 145 [2nd ] [ DMS ]
[>»]

[ ENIER 1 10.5[2nd ] [DMS ]
[>»1[>»]

[ EN;ER 10 EN;ER |

Example 28

® sin30 Deg. =0.5

o r nm r g

o r m r g

2°45'10.5" 1

2.752916667
D]

[DRG]

[ EN;ER ] [sin ] 30 [ EN;ER ]

DEG RAD GRD

sin(30) ¥

® sin30 Rad. = -0.988031624

[DRG][ » 1]

[ EN;ER 1[sin]30[ EN;ER |

DEG RAD GRD

sin(30) t

— 0.988031624
[R]

® sin ' 0.5 = 33.33333333 Grad.

[DRG][ » ]

[ ENTER ][2nd ] [sin ']
05 [_EN;ER 1

DEG RAD GRD

B
sin=1(0.5) t
33.33333333

G]

Example 29

B cosh1.5+2 = 4.352409615

[2nd][HYP][cos]1.5 1.
[>10+12[ IR | coshl-o)rz =
4.352409615
[D]
m sinh ~' 7 = 2.644120761
P
[72[ngl\‘]T[E|;\;P][2nd][sm 1 sinh=1(7) t
2.644120761
[D]

Example 30

B Ifx=5andy =30, whatarerand §? Ans : r = 30.41381265, @

=80.53767779 °

[2nd][RqpP]

[ ENIER 1 5[ ALPHA][ 9130
[ EN;ER |

R»Pr R»PO
P» Rx

P»Ry B

R»Pr (5,30) t

30.41381265
D]




[2nd][RapPIL > ] RFPr R»PO " INT(10+8)=INT(125)=1 [ ENIER ] E*13 4180/E ' [Trace ]
P»Rx ‘-
P»Ry (AT IMATRITMATH] OFrac 1INT § 12. 338.8235294
o [>] 2SGN m B
[ENERS[ALPHAIL 9130  |Rype(5. 30)  * 3ABS g [ ENIER | Ex13 4180 /E 1 (> 10> 10> ]
[EN;ER] 1 X=
80.53767779 [ENERII0[ 18] ENER ] N T (10/8) t 195 ~275.2041176
D] D] 4 O]

W Ifr=25and g =56 ° whatare x and y? Ans : x = 13.97982259, o) ) Example 36 [2nd ][ X<4PY]

y =20.72593931

v=
B SGN (log0.01)=8SGN(-2)=-1 B GraphY=e X %092268359
[2nd ] [RqpPI[ V]
R»Pr R»PO
[ MATH ][ MATH ] [ MATH ] 1 x
ﬁ»Ex (VY] g;g’\f TINT g [Graph][2nd]e”] raph Y=er(« «f Example 41
»Ry £9 9N
B 3ABS B ® Draw and scroll the graph for Y = cos ( x )
D]
[EN;ER]ZS[ALPHA][,] 1
56 [ ENTER | P»Rx (25,56) - [ ENTER ][log]0.01 [ ENIER | SGN (10g(0.0 1, [ ENTER | {(ia;)h][cos][EN;ER]
13.97982259 /
D] =1, \ ,
B =] D] B
2nd ] [ RqpP
[2nd][RqpPILY ILY ] R»Pr R»rPO B ABS (log 0.01)=ABS (- 2)=2 [>10>]
P»Rx Example 37
P»Ry MATH ] [ MATH ] [ MATH H /
— 0] {Y][g] It ! OFrac 1INT } ® (1) Range : X min = — 180, X max = 180, X scl = 90, Y min = — J m
28GN 1.25, Y max = 1.25, Y scl = 0.5, Graph Y = sin (2 x) ;
e ) IAPRATEI%E 1y Ry (25,56) 't 3ABS (<Y
} [Range ][ (~)]180 Xmin=-1804
20.72593931 [ ENTER ][ log]0.01 [ ENTER ] N +
B ABS (log(0.0 - B
D]
Example 31 @ 2. Example 42
m 51=120 [V]180[ V][V ] Yscl=0.54 t -
w71 ((7-4)1]-840 [©)]125[ Y 11.25[ ¥ ] sc [ ] PIacepomtsaF(S,S)j(S,10),(15,15_)and(18,15),and
5[MATH] - P 0.5 then use the Line function to connect the points.
i 3
D]
2RANDI F&L"TA:"]“[MATH”MATH] onPr tncr 1 [Range]0[ ¥ 135[ ¥ 15 Yscl=54 t
3RND 2nd ] [ Factor] 2 0 23 5
B 2Defm [ ¥V 1[2nd][Factor] Xfact= 2 < i [V]I0[V¥Y]23[V¥]
[ ENTER ][ ENIER j 51 + D] [
D]
120 [ EMER J4 [ ENIER ) 7 nPr 4 1 [ ENTER ] [2nd ] [PLOT] 5 LTS sy
o) ) o0 [V]2 Yfact= 2 < * [ALPHA][ 9 15 ’
B Generate a random number between 0 and 1 o] [0}
71+ [(7-4)!'x4]= D]
[MATHI[ » ] ol 1RAND ] [( )!'x4]1=35 e . [ ENTER ]
2RANDI [ == ][ Graph] [sin]2 ph Y=sin(2X <¢" X=
3IRND 7 [MATH ][ MATH ][ MATH ] onPr inCr t [ALPHA][ X] . 5.147058824
o) [MATHI[ » ] 2Defm | ——
D]
[ ENIER 1 ENIER ] RAND 1 B [2nd [ X4»Y]

[EN;ER]
0.103088648 [ ENIER 14 [ ENIER ] 7 nCr 4 1 Avﬁv . 5227272727
e ®
B Generate a random integer between 7 and 9 - 35. - [2nd ][ X<4pY][2nd]
[GC Tl < t [PLOT]5[ALPHA][ 9 110 . .
[MATHIL V] 0! 1RAND [ ENIER ) - 5.147058624
2RANDI 1 ey B
3RND n 1=-08 = [2nd ] [LINE | [ ENIER |
[ EMER 17 [ALPHATL 9 ] RANDI(7,9 t e 1
o[ ENTER | (7,9) 1.25[2nd ][ X" ][ ENIER | _rr t ] .
8.
= 0.8 : . B [2nd][PLOT] 15 [ALPHA]
B RND (sin 45 Deg. )= 0.71 (FIX=2) - ® (@) Zoom in and zoom outon Y= s (2 {L,”J,;?[[ 5:%;:]][2“] {
w224 JA+21 4327 =12 [2nd ] [Zoom x ] \ ) D
[MATHIL Y ITY ] 0! 1RAND
p A 20X [+11 ,141+]21 " [2nd][PLOT] 18 [ALPHA] .
3RND [>1[+1[2n£[3f127 BrEyraape \ m (9115 I > 10 > 1/ &
2DRE [ ENTER | [>I>»I>» 1> 1l >»] 25.73529412
- 12. [2nd ][ Zoom x f] [»]
[ 52EF ] [sin]45(2nd ] F0123456789 S S
[FIXTI» I » 11 » ] = e [2nd ] [LINE ][ ENIER |
m %81=3 [0}
o) i

42nd][ ¥ ]181[ ENIER]

2nd ] [ Zoom O
ENTER 1[ ENTER 4%/(81) ' 2nd] [Zoom Org] 2
[T IEEE ] RND(sin(45) ™
3. Example 43
0.74 - = m Enter the data: X g = 2, X 13,X1=3,FREQ=2,X,=5
D] FIX RsL=4, Rust =15, X1 =9, 154, X259,
: . m 7%=2401 [2nd][Zoom x 1/f] FREQ , = 9, X 5 = 12, FREQ ; = 7, then find X= 7.5, Sx =
m MAX ( sin 30 Deg. , sin 90 Deg. ) = MAX (0.5, 1) = 1 72001 (a4 [ IR AVAU'VAV 3.745585637, Cax = 0 , and Cpx = 0.503655401
n A =
= 774 1
[MATH][MATH] OMAX 1MIN 1 - [MODE] 1 1-VAR 2-VAR
2SUM 2401. [2nd ][ Zoomx 1/f] REG
[D]
3AVG o AAAAAAY D-CL o ..
Example33
[ ENIER ] [sin] 30 AN Lot 1 B [ ENIER ] [DATA][ V']
[ > 1[ALPHA][ 9 ][sin]90 AX(sin(30) ™ m 1yd?=9ft?=0.000000836 km 2 DATA-INPUT
[ ENTER | . Example 38 LIMIT
] ' [1([:(2)r’1\ldv]][[C£l\l]V][2nd] S>ft2 yd2 m?2 N u Superimposethegraphon=—X+20v~:—:rthegraphon=Xa DISTR B star
. ke, 27 —_
m MIN (sin 30 Deg., sin 90 Deg. )= MIN (0.5, 1) =05 mile2 *3XT-6X-8 [ ENTER ] 2 .
km2 = XLSL=24 H
[Range][()18IY 18IV [yqci= 54 '
[MATH][MATH][ » ] OMAX 1MIN § [ ENTER | S SNCIREIR SRE
2SUM = ft2 yd2 m2 [V 15 B star
3AVG - kmni1lze2 . 0] [V 113[ ENIER ] X USL=13 H
) B ) [ ENIER ][ Graph ] [ALPHA] 1
[ ENTER ][sin]30 _ MIN(sin(30) 1, [X][2nd][x°][+]3 X3+3X2-6X-84* -
[ » 1[ALPHA][ 9 ][sin]90 [ <] ) . [ALPHAT[X][x2][-16 B srar
[ ENIER ] 0.5 ft2 yd= m + [ALPHAT[X][-18 O] DATA
- mile?2 [ ] DATA-INPUT
Km?2 . 9. [ ENTER LIMIT
m SUM (13, 15,23 ) = 51 DISTR o u
[VIIVY]
[MATH][MATH][ V ] OMAX 1MIN ] rfntizlez’dz m2 [0 [ ENIER 13 X1=34 H
2SUM km2 0.000000836 [Graph][(-)1[ALPHA][X] raph Y=-X+2 <«
3AVG o) B [+12 B  star
E le 34
[EER IS IALPHAIL 9 115 |sym (13,15,2 e = vz FREQq=24 H
[ALPHA][ 9123 ENTER £ 2 m 3 x G=2.00177955 x 10 ™° [ ENTER
- ol ?[Yx]][2nd][CONST][Y] 0c 1Vm 2Na -\—{&# ol
3g 4me x107!" D] [VI15[Y]9[V¥]12 _ t
m AVG (13,15,23) =17 5G 6mP E6.6725985 (V17 FREQ3=7« H
Example 39
MATH ] [ MATH
[ I vyl OMAX 1MIN I [ ENIER ][ ENIER ] 3%xG * W Superimpose the graph of Y = cos (X) over the graph of Y = sin B star
2SUM x10710 (x) 2nd ] [ STATVAR
3AVG 2.00177955 [2nd ][ ] n X Sx ox N
B o} [ Graph][sin][ ENIER | Rx  Xmax
[ENIER 113 [ALPHAT 9 115 [\ (13 15.2 T | Example3s | CVx Xmin g ey '
[ALPHA][ 9 123 ENIER ] ' ' ) ) .
B Apply the multi-statement function to the following two [D] [»]
o) 17. statements: (E=15) n X Sx ox %
Ex13=195 [Graph][cos][ALPHA][X] Rx Xmax
= ENTER :
B Frac (1038 ) = Frac (1.25) = 0.25 180 = E=12 (52 Cvx Xmin o T
[D]
[MATH ][ MATH ] [ MATH ] OFrac 1INT 1 15 [ SAVE ] [E ][ ENIER ] — 1 (> ] n X SX ox N
2SGN Example 40 Rx  Xmax
in 3.745585637
3ABS - - 15. ® Use Trace function to analyze the graph Y = cos ( x ) CVX. Xmin B  star
- ENTER Graph][ ¥V
[SEEFTOL 8IS e ag (10/8) 1 [ALPHAILE][*113 Ex13 4180 /E ' [Graph][cos ][ Fh2%* ] [GraphIT V'] ON-DIST
[ALPHAT[ 4 1180[ + ] 1HIST
0.25 [ALPHAT[E][ ENIER ] 195. 2SPC
D} D} 4 O B star




ENTER -
[ ER2ER ] : [«] P(t) Q(t) t [dhbo] DHBO Example54
- R(t) t - d B Create a program to perform arithmetic calculation with complex
L—J B star - SEJA.T934(~3 31 numbers
Z,=A+Bi, Z,=C+Di
[2nd ][ STATVAR][ V ] ) T eSum:Z,+Z,=(A+B)+(C+D)i
[VIIVIIV] éa):( Ec:):)x ool At P(t) Q(t) t (> DHBO « Difference : Z 1~ Z ;= (A=B )+ (C-D)i
Bor 0. R(t) t 04345 1hF +Product:Z, x Z,=E+Fi=(AC-BD)+(AD+BC)i
B  star :
B sar - Quotient: Z 22, = E + F i = 2G*BD, BC-AD),
(> ] 2 oon 5 [>] C2+D? ‘C%*D?
R Bx pkx [ ]
o o i < P(t) Q(t) t DH BO
o == 0.503655401 R(t) t 111;’1 Program Type : MAIN
B star 0.0654 Line| Program
B star 1 Lol ol:
G :
[ Graph] ON-DIST [>1 DH BO 2 [P[R[I[N]T clH|olo[s]e] [t]n|e] [olrPlE[R][A]T
THIST Example 47 = . o[rR|"|;[s|LIE|E|P[(]5])];
2sSPC . . 37 3 [P[R[1[N]T ] 2] -1 T8 ] Tal: /]S
B star B Given the following data, use linear regression to estimate x * =? 4
[ ENTER | ; fory =573 andy'= ? for x = 19 4 [1[NIPJUIT] [O:
_/_\ Example 50 s [1]F](Jo]=[4]) [T]n]E[N]{]G]o]T]O] Tol; ]}
: 6 [ 1[n[Pu]T] TAl.]B].[c].]|p];
- B s X 15 17 21 28 W 4777 4o =1001010101001 , 7 [ [elJol=1 [y [T {H[e|n[([clo|T]o] [3]:]3
v 451 475 525 678 8 [1[F] (Jo[==]2]) [T[n]e[n[¢]a]o]T]o] T2[; 1}
[2nd ][ STATVAR | [ Graph] T [MODE]2[dhbo][ > ] DEC HEX BIN o [1TF[([ol=[sp[T[H[e[N[([s[o][T]o[ 1 [: [y
2102 187 [>] OCT o 5 1w |elL]s[e|{[e]=]Jalc]+]8]p])[/](|c]?]+][p]Z])
MODE ] 1 d h b 1 |F|=|(|B|C|[-|A|D|)|/]|(|C|?[+|D]|%|)|}
Z5RG STAT : 1V 1-VAR 2-VAR 12[clolTlo] |4l
REG [ ENIER J[dhbo ][V ][ ¥V 13|L|b]| I 1]:
[ ENIER D-CL = ILVIEY] IDEC HEX BIN 14| e=[(Ja[c]=[8[o [5 [F[=[([a[p]<|B[c)
B star OCT o b 15|G|O|T|O 41;
[ ENTER | d h b 16[L|b| 1| [2]:
B star - LIN LOG PWR 17|E[=| (|A|=|c]) | |F|=[(|B|-|D])|;[c|O|T O] [4];
eN INV [ ENTER 14777 [ ENIER | 44777 1 18[L{b[1] [3]:
Example 44 QUAD 19(E(=[(|A[+|c)|;|F|=](|B[+|D|)];|c|o|T|O| |4
B star b -
10101001 20fLibI1] |4):

m Enterthe data: X s =2 XusL =8, Y1s.=3, YusL =9, X1 =3, [ ENTER | [ DATA] 21|al=[A[B[s|(|F])
Y1=4,X,=5,Y,=7,X3=7,Y3=6,thenfind X =5,Sx=2, = DATA-INPUT (5 21 [Fl([Flz[oD)[T[H[EIN[([P[RIIIN[T] TE[L T+ ],
Cax =0, Cay = 0.111111111 CIMIT =1 44777 t RENERE

DISTR - 2 231 [F]([F[<[o]) [T[n[EIN[¢[P[R[IIN]T] [E]. ]"[-["],

[MODE]1[ » | 1-VAR 2-VAR - 10010 Q. tjilild

REG - [ENTER 115[ ¥ 1451[ V¥ ] e T - 24|E|N|D
el 17[ VW 14750V 121[ V¥ ] 4= + (=] 44777 *
- B  star 525[ ¥ 128 V¥ 1678 LIN o abo RUN
= DATA STAT
[ ENERTT vl DATA-INPUT B When the message “1:+”,“2:~",“3: x ”,“4 :/” appears on
LIMIT [2nd][STATVAR][ Graph] : (S ] J— + the display, you can input a value for “ O ” that corresponds to
_DISTR B e : y the type of operation you want to performed, as follows:
: AbO 1forZ,+Z, 2forZ -2,
[ENIER 12[ V¥ ]8[ V¥ |3 Y USL=9 1 B star 3forZz, x Z, 4forZz, +2Z,
[V 1oL EEER ] ) ¢ 2nd ][ ST
= ATVAR i B
o {n 10 10> 1 a b or ox' y Example 51 Zy=A+Bi=17+5i z _ .
B star > 10> 1 — (1) z :C+Di:(—3)+14i: 1+ 2y =14+ 1910
LIN B What is the negative of 3A 44? Ans : FFFFFFC6 >
[ DATA] B star
DATA-INPUT ENTER 1(5 S d
T A [MODE]2[dhbo][ » | DEC HEX BIN [ ENIEF 1(5 Seconds) CHOOSE THE =
DISTR = = X’ (573) OCT o b
enTER — 22.56700734 ¢ n®b B temoa
[EMER I3[V ]4[ V¥ ]5 Y3=6< 1 B stat ENTER
[VI7[VY]7[VY]6 1 [ ENERTINEG]3[/A] NEG h3/A 1 1:+ 2:- 3:% -
[2nd ][ STATVAR][ » ] 2 b ooy [ EMIER ] .
B star [>»I1>»I1l>»] Y FFEFFFC6 . .
PROG
e N R TR TR 8 T
Rx Xma>.< [ ENTER ] 19 [ ENIER ]
CVx Xmin o 5 = = y’(19) W 1234 0+ 1EF 16 + 245 =2352 = 1258 4
B Proc 4
_ 510.2658228
[>»] n X Sx ox N . [MODE]2[dhbo][ V] DEC HEX BIN [ ENTER 717 [ ENTER | D=14 <
Rx Xmax OCT o h 5[ ENIER J[(~)]3[ ENIER ]
CVx Xmin T 2. Example 48 d h b 14 o
PROG
[VIIVIIYIIVIIYI oy sx2 5x + m Given the following data, use quadratic regression to estimate y’ [ ENIER J[dhbo ][V ][V ] DEC HEX BIN [ ENIER ] 14 +19 | t
[VIIVIIVY] Sy £y2 y 4 =7?forx =58 and x ' =? fory =143 OCT o °
Cax Cay 0. g hb
— m
STAT % 57 61 57 [ ENTER | 1234 (4] B rroc
= 1 = = i
[»] £X £x2 £Xy H Y 101 117 155 d1234+4 @ {21 TATBI= 04131 o 7 —4_ai
2y 392 o Z,=C+Di=6+17i
Cax Cay 0.111111111
— B star
[ ENTER ] (5 Seconds
[ Graph ] . (MODEITL V] 1-VAR 2-VAR [dhbol [V 1LY 1051 DEC HEX BIN ) CHOOSE THE =
- . REG 0CT o o
D-CL d h b B pros
=, B  star —
s B STAT
ENTER ENTER 11[ JET[IF]] < 1:%# 2= 3:% =
Example 45 [ENER TV 1TV ] LIN LOG PWR [ENERTILETNIFIL = 1 d1234+h1|E|F/4'
e INV °
B In the data in Example 44, change Y 1=4toY;=9and X,=5 QUAD B sar Bl prOG 4
to X =8, then find Sx = 2.645751311 [ ENIER ]2 =
- [ ENTER ][ DATA] 5 [dhbo ][V ][> ] DEC HEX BIN Q=g
[DATA] DATA-INPUT OCT o °
DATA-INPUT LIMIT d h b [ rroc 4
LIMIT DI STR B  star ENTER
DISTR ENTER [ENER]10[ EMER ) D=17 <
8o [ ENIER |57V ]101[ V] T e 34+h1IEIF /0244 13 [ ENIER 16 [ ENIER | 17
[ENIER 1[ V]9 % = T 1LY 117V 167 et : 8
1=9 « H [V ]155 B proG
Quap Crer [ EMIER ] 4 -4 t
B swr (52 d1234+h1IEF/ -
[2nd ][ STATVAR ][ Graph ] o
[vi18 Xo2=84 H 2352 B Proc
1
B star [dhbo ][ < ][ < ][ < Z,=A+Bi= —5)i
5 e <[] <] DHBO @) 1_ B|__2+( 5)|221XZQ=107—21i
[2nd][STATVARI[ » ] S B @ gt A8 d Z,=C+Di=11+17i
[2nd ][ STATVAR][ » | B % S% ok [>»1l»] LS 1258
[>»] == d
M QU0 | eamoess [
SV X 2645751311 B star Example 53 CHOOSE THE =
D]
STAT [ ENTER 1143 [ ENTER | - B 1010 ,AND (A4 OR 7 16)=1010,=10 4 D)
PROG
Example 46 -
MODE
QUAD  65.36790453 [[)] 12 dnbo][ > ] DEC HEX BIN 1i4 2:- 3k =
B Enterthedata:a,=2,X,=3, FREQ,=2,X,=5,FREQ,=9, — dOCT p ’
X 3= 12, FREQ; = 7, then find t = —1.510966203, P( t ) = 0.0654, [>1] i X3 no B rroc 4
Q(t)=0.4346, R (t)=0.9346 - [ ENIER ] [dhbo ][ V¥ ][V ]
= DEC HEX BIN [EMERT3 =
QUAD 3548923833 (> 10> ] BET i . 0=34
STAT
[MODE 1 1-VAR 2-VAR d h b
REG [2nd ][ STATVAR][ > ] - B proc 4
<= ENTER
D-CL B e [>1>1>1 [ ENTER J1010 [AND][( )] 1010 AND (<« ¢ [ ENIER ]2 [ ENIER | D=17 <
QUAD [(,)]5[ENIER 11 [ ENTER
[ ENTER [DATAI[ VY ][ V] AT A=INPU T B star ) 17 = IS
LT [ ENTER ] 55 [ ENIER | — —
DISTR y ) [dhbo ][ V¥ 11V ][> ] DEC HEX BIN [ ENTER | 107 — 211 "
—— @ smr 104.3 OCT o ° B
[ ENTER ]2 [ ENTER | A B star d hb
= = X = =
B rroG
5 Example 49 [ ENTER 1[/A][OR][dhbo] DEC HEX BIN 7 —ATBIi-B8+5.1 7
B s o ) [YILVYIE>] 0CT o b w{sC = I 21 -008-156i
B 31 0=1F=11111,=37, Z,=C+Di=(=3) +4i Z,

[DATA][ ENIER 13[ ¥ ]2 FREQ3;=7 < 1 e

[V 15[V ]19[V]12 2 + [MODE]2 < [ ENTER | 7 [ ENTER | P [ ENIER ] (5 Seconds ) CHOOSE THE =

(VY7 . b1010 AND( ™

B star 10:0
[2nd ][ STATVAR ][ « ] R B proc
P(t Q(t 31 [ ENIER
Rit; t() [E2] 431 * [dhbo][ < 1 < ] DHBO 1:4 2:- 3:ik =
T-1.510966203 N
B star 31 10
B rroc 4




[EN;ER]4 0=4 <
B proc 4
[ENIER]G[ENIER]5 D=4 <
[ ENIER ] [(-)]3[ ENIER ] 4
B Proc
[ ENIER ] 0.08 — 1.56 | t
B Proc

B Create a program to determine solutions to the quadratic
equatonAX?+BX+C=0,D=B2 —4AC

-B+JD -B-JD
1)D>0 ) = s =
) = X oA X, A
-B
2)D=0 X=—
) - 2A
-B_ /-D,. -B ,-D,.
3)D<0 s Xy =+ (o s Xy=o—
JD<0 =, Xy =+ (o0 Xy =22 (0
Program Type : MAIN
Line| Program
1 | [N[PJU|T Al,|B|,|C]|;
2 |D|=|B|*|-|4|A|C
3 [E|=|-[B|/|2]Al;|F|[=][/|(]alB]s|(|p])[)|/]2]A
4 |lal=|e|+|F[; [H[=]E[-]F
s [1F[([p[>]o)|T[H[E[N|{|P[R[I[N]|T x[1]=
Gl [ [xT2[=]"].[H][: [}
6 |I|F{([D|==|0])|T|H|E[N]{|[P|[R|I|N|T X|= y |E
R
7 [1|F{([ol<|o])|[T|H[E[N|{[P[R]I[N]T x[1]=
Ef, + s |F > " X|2|= s |E -
F | }
8 |[E|N|D
RUN

(1)2X%-7X+5=0 => X1=25,X,=1

[ EN;ER] A=<

[ proc

2[EMERTI(-)II7TIEER] =5 <
5

B proc

[ ENIER ) X1=2.5 x2=1 T

B rroc
(2)25X2-70X+49=0 = X=14
[ENIER] A=<

B proc
25[ ENIER ()] C=49 <
70[ ENIER 149

B ProG
[EN;ER] X=1.4 1

B rroc

(B)XZ+2X+5=0=> X1==1+2i,X,=-1-2i

[ EN;ER] A=<

[ proc

1] ENIER]Z[ ENIER]5

B rroG

[ ENIER ] X1==-1+21 X2 ™

B rroc

21 X2=-1-21 ¢

B proc

Example 56

B Create a program to generate a common difference sequence
(A First item, D : common difference, N : number )
Sum : S (N ) =A+(A+D)+(A+2D)+(A+3D)+...
_ N[2A+(N-1)D]
2
Nthitem:A(N)=A+(N-1)D

Program Type : MAIN
Line| Program
1 |P|R|I|[N|T "1 A ([N]) 2|1 S|(IND["[5[S]L
E|E|P|(|5])];
2 | I[N|P[U|T| |P|s|A]:|D|s|N]|;
S|I|F[(|P[=[1])|[TIHIE[N|{|G|O|T|O]| [1];]|}
a [s|=|n[ (J2]a]+](IN[=]1]) ]| /]2
5 |[P[R[I[N|T "ISI(IND)|=|"]|:|S];
6 [G[O[T[O] [2];
7 [L{b][I 1]:
8 |T[=|A[+]|([N]|-|1])|D
9 [P[R[I[N|T "IALCIND) =" T
10|L|bfl 2 E|N/ D
RUN

B When the message “ 1: A(N), 2 :S(N) ” appears on the display,
you can input a “ P ” value to specify the type of operation to be
performed:

1 for A(N) 2 for S(N)

B (1)A=3,D=2,N=4 = AN)=A(4)=9

[ ENIER ]( 5 Seconds ) 1:A(N) 2:S( =
B proc
P=<
B rroc
1[EN;ER]3[EN;ER] -
2[EN;ER]4 Ni=4
B rroc
[EN;ER] A(N)=9 1
B proc

(2)A=3,D=2,N=12 = S(N)=S (12) = 168

[ ENIER ] (5 Seconds ) 1:A(N) 2:S( =
B pProc
P=<
B rroc
Z[EN;ER]:;[EN;ER] -
2[EN;ER]12 N=4.24
B proc
[ ENIER ] S(N)=168 t
[ proc

Example 57

B Create a program to generate a common ratio sequence ( A :
First item, R : common ratio, N : number )
Sum:S(N)=A+AR+AR2+AR%...

N_
DR # 1= sy="R-D
R-1
2)R=1 = A(N)=ARMN" 1
Nthitem :A(N)=AN- 1

Program Type : MAIN

Line| Program

1 |P|R|I|N|T 11 JALCIN]D 2| [S{(IND["[5[S|L
E|E|P|(|5])];

2 [I[N|P|U|T Pls|Als R[5 [N
3HFI(Pl=[1D|T[HIEIN|([G[O[T][O] [1];]}

4 | I|FI([R[==[1])|T|HE|N|{|S|=]|A[N]|}

5 [LFI(|R[#[ 1T [TIH[E|N[{[S[=]A[([R[MN|=]1])]/]|(
RI-11]) ]}

6 [P[R[I[N|T S|(IN])|= > |S]s

7 [G|O|T|O| |2];

8 |L|b]|I 1]:

9 [T|=|A|R| M ([N|-|1])

10 |P|R|I'|N|T "IAL(IN])|[= s [T

11|(L|b|I 2 E|N|D

RUN

B When the message “ 1: A(N), 2 :S(N) ” appears on the display,
you can input a “ P " value to specify the type of operation to be
performed:

1 for A(N) 2 for S(N)

(1)A=5,R=4,N=7 => A(N)=A(7) = 20480

[ ENIER 1 (5 Seconds) 1:A(N) 2:S( =

[ proc
P=4«
B rroG
1 [ EN;ER ] 5[ EN;ER ] -
41 EN;ER 17 N=7<
B rroG
[ ENTER ]

A(N)=20480 L

B proc

(2)A=5,R=4,N=9 = S (N)=S (9) = 436905

[ ENIER ]( 5 Seconds ) 1:A(N) 2:S( =
B proc
P=4«
B rroG

20 ENTER 15[ ENTER ]
4[ENTER g

B proc

[ ENIER ] S(N)=436905 1

B proc

(3)A=7,R=1,N=14 = S(N)=S (14)= 98

[ ENIER ]( 5 Seconds ) 1:A(N) 2:S( =

B proc
P=<

B pProc
2[ENIER]7[ENIER] N=14 <
1[ENiER]14 -

B proc
[EN;ER] S(N):98 1

B proc

Example 58

B Create a program to determine the solutions for linear equations

of the form:
Ax+By=C
{Dx+Ey=F
Program Type : MAIN
Line| Program
101 PIU/T| |A|:|B|s|C|s|D|s|E ,|F]|;
2 |G|=|A|B|S|(|A|)|/|A[B|S|([D])]|
3 |D[=|D[G|; |E|=|E|G[;|F|=|F|G
4 |I|FI(JA==|D|)|T|H|E|N|{|G|O|T|O| [1];]}
5 [H|=[(|c|+|F[)|/](|B|+[E|)
6 |G|O|T|O| |2];
7 |L|b|I 1
8 [H[=|([C|-|F])[/[(|B]-]E])
9 |L|b|I 2|
10|A|=]( —|B/H[)]|/]A
11 [P|R|I'|N|T "[A[N|S|= ;
12 |P|R|I'|N "X = s [AS Y|= s [H;
13[E[N|D

RUN

4X—-Y=30 —X=7Y=-2
5X+9Y=17
[ ENIER | A=<
B proc
4 A=44
B proc
[ENIER | [(<)]1[ENIER 130 [ p_ 47
[EN;ER]5[ EN;ER]Q
[ENIER]17
B proc
[ ENIER ] X=7 Y==2 t
B proc

Example 59

B Create three subroutines to store the following formulas and
then use the GOSUB-PROG command to write a mainroutine to
execute the subroutines.

Subroutine 1: CHARGE =N x 3
Subroutine 2 : POWER =1 + A
Subroutine 3: VOLTAGE =1 + (B x Q x A)

Program Type : MAIN

Line| Program Note : Subroutine

1]Q|=|N|*/3

2 |PIR|IIN|T "|CIHIAIRIGIE|=|"|,[Q|;|S|L|E|E|P|(
5115

3 |[EINID

Program Type : MAIN

Line| Program Note : Subroutine

1 [J[=[1[/]A

2 [PIR|I[N|T PO [W|E|R|= , (JIS|S|LIEJEIP| (|5
)|

3 |[EINID

Program Type : MAIN

Line| Program Note : Subroutine

1 =T/ T ([B*[Q[*[A])

2 [PIR|I[N|T "IVIO|L|T|A[G|E|= s Vs

3 |[E[N|D

Program Type : MAIN

Line| Program Note : Mainroutine

1 [I[N[P[UIT[ IN[;

2 |[G|O|s|uU|B P|R|O|G 115

3 |IIN[PIUIT LA

4 |GlOo|s|u|B| [PIR|O|G| |2];

5 |B|=[2]|7

6 |[G[O|S|U|B P|R|O|G 3

7 |[EINID

RUN

m N =15 1=486 A=2 = CHARGE = 4.5, POWER = 243,
VOLTAGE =2

[ EN;ER ]

B ProG

B proc

[ ENIER ] (5 Seconds ) CHARGE=4.5

B Proc
486 1=486 <

B rroc
[ EN;ER ] 2 A=2 <

B proc

[ ENIER ] (5 Seconds ) POWER=243

B proc

VOLTAGE=2 1

B Proc

Example 60

B Create a program that graphs Y = —,/9 — X? and Y = 2 X with
the following range settings: X min = -3.4, X max = 3.4, X scl =1,
Ymin=-3,Ymax=3,Yscl=1

Program Type : MAIN
Line| Program
1 |RIAIN|GIE| ([-|3]|.[4]:[3]. 4] [1]:[-[3]:[3]:]1])
2 |G|r|a|p|h Y(=[-|V]Clo]|-[X|2])
3 |G|r|a|p|h Y|= X
4 |[E|N|D
RUN
[ENIER] [

AV .

z: [ rroc
Example 61

B Usea FORIlooptocalculate 1+6=?,1+5=21+4=72 2+
6=?,2+5=22+4="7

[G €O T]

Program Type : MAIN
Line| Program
1|C[L[S|;
2 |FIOIR|([A[=]1][:[Al=]2]; A+ [{
3 [Flo|r[(|B|=]|6];|B|2]4];[B]-)
4 |{|C|=|A|+ |PIR[TIN|T Als|"|+]"||B]s]" ="
»|Cla 3|}
5 |[E|N|D
RUN
[ENER ] 1+6 =7
B rroc
1+5 =6
B ProG

1+4 =5

[ proc
2+6 =8

Bl proc
2+5 =7

B proc
2+4 =6 %

Bl proc

Example 62

B Set the program type to “BaseN” and evaluate
ANS = 1010 ,AND (YOR 7 45)

Program Type : BaseN ( DEC )

Line Program

1 [LIN[PIU[T] |Y];

2 |C|/=[b[1]|0]|1|0 A|N|D (Y O|R h|7])
3 |PIR[I[N|T "|A[N[S[=]"]|> ;

4 |E|N|D

(1) Y = /A 16, Ans = 10 1

[ENIER] Y=<
d
PROG
[ahbo ][V 1LY 11> ] BEE T B EIN
0CT o ¢
d ﬁ b PROG
[EEER 1A Y=h /A<
d
PROG
[ =] ANS=10 4
d
PROG
(2)1fY =11011 ¢, Ans = 1010,
EDIT
[R5 INPUT Y 5
EDIT: 112
*xDEC *

PROG

[ EMER J[dhbo ][ » 1[ » ] DEC HEX BIN

OCT o d
d h b PROG
[ENTER]
= INPUT Y i
EDIT: 112
% BIN %
PROG
RUN
[EN;ER] Y=<

PROG

[dhbo 1TV 17> 1 DEC HEX BIN

0CT o b
d h'®

PROG

[ ENIER 111011 Y=011011 <

PROG

[ ENIER] ANS=1010 t

PROG

Example 63

B Create a program to evaluate the following, and insert a display
result command ( 4 ) to check the content of a memory
variable
B=log(A+90),C=13 x AAD=51 + (Ax B)

Program Type : MAIN
Line| Program
1 [1|N|P|U|T Al;
2 |B|=|I|o|g|(|A[+]|9]/0])
3 |Cl=|1[3|%|A|;|4
4 |D|=|5[1|/|(|A[* )
5 |P|R|I|[N|T D|= , [Df s
6 [E|N|D
RUN

m A=10 = C=130,D=255

[EN;ER] A=<
B rroG
10 A=104
B rroc
[ ENIER ] C=13%A; 4 H
PROG B proc 4
[2nd [[RCLI[ » 1 > ] ABCDEF ,
G H I
130.
4 KL B Proc
[ “esc] [ ENIER ] D=2.55 t
B rroc

A

invent
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